16

17
© ()

18

16530463



16 17 (C)(2)

116530463
16 1,000,000 0 1,000,000
17 400,000 0 400,000
1,400,000 0 1,400,000

(1)
Yuji Tsutsui & Kayo Nishizawa, Performance of rats on a successive
delayed matching-to-sample task with visual and auditory stimuli.

36

66

(2)

Yuji Tsutsui & Kayo Nishizawa, Performance of rats on a successive

delayed matching-to-sample task with visual and auditory stimuli,



36

18

10

13

15

18

14

16

66



( ) (1998)

85 p

80 b a=@== /\ditory

amQOm\ /i
75 b Visual

70 p
65 p
60 p
55 p

50 '] '] ']

0.25 2 5
(sec)

(%)

1998)

AF64A AFG64A

1996 M1



a

o

70

50

LLe=)

Correct Response (%)

G0

(2003)

SCOPOLAMINE

B ISALINE el 0.0
DT mgekg #—0LImg/ kg

,2003

Correct Response (%)

-

&8 B 2 8 £ & B

—

& &8 8 38 B & B8

'-ﬁ:mm i (1 g g
T mpig #— 0 imgleg
L
:'f [ 1 ] :
_ MECAMYLAMINE
- =L SALNE
8 1may
|- a—a3mgg
_.-I"- i [} i J i
028 3 @ 8
Detay (sec)



Correct (%)

(2003)

== Eham:Pre-surgeny

1007 =Tr= Sham:Post-surgery
-=#= M5 Lesion:Pra-surgary
S0
E M5 Lesion:Post-surgery
.
2 &0
E
=]
704 == Sham.Pre-surgery o _—
—fr=—Sham:Post-surgery
50 ==i== M5 Lesion Pre-surgery Gl
_ . Tk
weden M5 Lesion:Post-surgery
5079 T T 30 | |
0.25 3 [ .25 3 B
Delay (sec) Delay (sec)



,2001)

Wister

18

(JCL Wistar

85



30.5cm(W)x24.1cm(D)x29.2cm(H)

(18W)
2.5cm 19cm
cm, cm
,45mg
25
30 25 50
3 2 S1 S2 S1
S2 0.25 T L
2 T 2.5KHz
75dB L
S1 S2 T T T L L L L T S1-S2
10 T T L L S2
2 T L L T
50 S2 2
T T
L L T



20

20 80
3
MED-PC IV
T T T L L L L T S1
S2 1 ,3 ,5 3
10
80% 3
9 nucleus basalis of Meynert(NBM)
9 Insisor bar intaraural
line 3.3mm Paxinos

Watson,1998 Paxinos Watson 1998

1.4mm, 2.5mm, 7.0mm 0.7mm

55 50

85



NO.15

Bregma

Bregma

Bregma

Bregma

=0. 26mm

=0. 92mm

-1. 30mm

—1. 80mm



100p m

« 4
T L T-T
T-L s1 T T
L-L L-T S1 L
L
S1 T T L
L
5 T
100% —O— Sham-Pre
—&— Sham-Post
90% F —/— Lesion-Pre
—a— |esion-Post
80% I x
—A
0% |
60%
50%
1sec 3sec 5sec
5 T
(Lesion) (Sham) (pre-post)

11



nbm lesion sham
pre-post (pre post )
1 3 5 3 3
F(1,16)=4.73,p<.05 pre-post

(F(1,16)=5.06, p<.05)

post
pre post
(F(2,32)=2.56, p<.10)
1 3
6 L
100
90F —O— Sham-Pre
—8— Sham-Post
80r —— Lesion-Pre
—&— L esion-Post
- 70F
L
60}
50 [ ﬁ $ '
1sec 3sec S5sec
6 L
(Lesion) (Sham) (pre-post)

12



nbm lesion sham
pre-post (pre post )
1 3 5 3 3
F(1,16)=19.33,p<.01
(F(2,32)=5.10, p<.05) pre-post

(F(1,16)=10.10, p<.01)

post
pre post
pre-post (F(2,32)=3.26,
p<.10)
5 6 T L
(1998)
T
L
nbm
,2003
S 6 nbm
(2003)
nbm

13



S1

S2

S2

S2

S2 L

0.9

0.8

0.7

0.6

-——"'—‘————‘——7 .

L-Trial
+ .
T-Tria

0.5

1st

2nd 3rd
blocks of 3days

14




70%

80
L (7
T L
nbm
nbm L
2001

,p-399

Paxinos,G., & Watson,C. 1998 The rat brain: in stereotaxic coordinates.

San Diego: Academic Press, San Diego.

1996

202

1998

69 2 122-129

2003

53

15

AF64A

43 185-

2 57-70



Y Y Y Y Y Y Y N N Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y
¥¥

¥¥

¥¥

¥¥

¥¥
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ALLvr=1 ¥ Left Lever Response

ARLvr=2 ¥ Right Lever Response

ALLvrOP=1 ¥ Operate Left lever ( Retractable Lever )
ARLvrOP=2 ¥ Operate Right lever ( Retractable Lever )
"Pellet=3 ¥ Operate Pellet dispnser

ALLamp=4 ¥ Left Stimulus Light

ARLamp=5 ¥ Right Stimulus Light

"Tone=6 ¥ Tone Stimulus

"HouseLight=7 ¥ House Light

ALight=8 ¥ Optional Light

LISTD =1, 2, 3, 4
¥ E
¥

LIST E

1
-

¥ C
¥ Disk Columns

DIM C 5%
DIM C = 300

S1-82

KK KKK K K
WO wWwN -

Disk Columns =5
Disk Options = Fullheaders, Formfeeds
Disk VARS =C,B

S.S.1,

16

€

c(L)
cw)
CP)

C(K)



¥ S1

S1,

60": SET N=1; SET J=0; SET K=1; SET L=2; SET M=3; SET P=4; SET B=0; ON “HouselLight ---> S2
¥ S2
N>
S2,

0.01"™ : Show 1, Trial, N; RANDD X=D; Show 2, Stimuli, X;

IF N>10 [06True, @6False]

@6True : SET B=0; 722--->S3
@6False : IF X=1 [@7True, @7False]
@7True : 76 --->S3
@7False: |IF X=2 [@8True, @8False]
@8True : 7Z7 ---> S3
@8False : IF X=3 [@9True, @9False]
@9True : 7Z8 ---> S3
@9False : IF X=4 [@10True, @1OFalse]
®10True : Z11 ---> S3
@10False : ---> S3
S3,

#212: SET C(J)=N, C(K)=X, C(L)=Y, C(MD)=W ---> S4
S4,

20": ADD N; SET J=J+5; SET K=K+5; SET L=L+5; SET M=M+5; SET P=P+5 ---> S2

S.5.8,
S1,
#722: Show 1, Trial, N; RANDD X=D; Show 2, Stimuli, X;Show 5, Reward, B;
IF X=1 [@True, @False]
@True : 71 --->S82
@False: IF X=2 [02True, @2False]
@2True : 722 ---> S2
@2False : IF X=3 [@3True, @3False]
@3True : Z3 ---> S2
@3False : IF X=4 [@4True, @4False]
@4True : 724 ---> S2

@4False : ---> S2
¥ c() CEK)  S1-52
cL
S2,
#79: SET C(J)=N, C(K)=X, C(L)=Y, C(M)=W ---> S3
¥ (S3 (N) s3
S3,

20": ADD N; SET J=J+5; SET K=K+5; SET L=L+5; SET M=M+5; SET P=P+5;
IF N=61 [@5True, @5False]
@5True : ---> S4
@5False : 722 --->S1
¥
S4,
1": ---> STOPABORTFLUSH

¥ S.5.16 S.5.19

17



¥

S.S.16,

S1,

#76:0N ~Light ---> S2
¥

S2,

3": OFF ~Light---> S3
S3,

¥

1": ON “Light ---> S4
S4,

2": ---> S5
S5,

0.01": ON "RLvrOP; 225;720 ---> S6
S6,

#715: OFF ~Light, ~RLvrOP; Z12 ---> Sl

¥

S.5.17,

S1,

#Z7 : ON “Light --->S2
¥

S2,

3": OFF ~Light; Z5 --->S3
S3,

¥

1": ON ~Tone ---> S4
S4,

2": ---> S5
S5,

0.01": ON ALLvrOP; Z727;7220 --->S6
S6,

#715: OFF ~Tone, ~LLvrOP; 712 ---> S1

¥

S.S.18,

S1,

#28 : ON ~Tone ---> S2
¥

S2,

3": OFF ~Tone; Z5 --->S3
S3,

¥

1": ON ~Tone ---> S4

S4,

2" ---> S5
S5,

0.01": ON ~RLvrOP; Z725;720 --->S6

L-L

S1

S2

S1

S2

T-T

S1

S2

18

Z5

725

Z5

227

Z5

725



S6,

#715: OFF ~Tone, "RLvrOP; 712 ---> S1

¥ T-L
S.S.19,

S1,

#7211 - ON ~Tone ---> S2
¥ S1
S2,

3": OFF ~Tone; Z5 --->S3

S3,
¥ S2
1": ON ~Light ---> $4

S4,

2": ---> S5

S5,

0.01": ON ALLvrOP; Z727;7220 --->S6

S6,

#715: OFF ~Light, ~LLvrOP; Z12 --->S1
¥ L-L
S.S.2,

S1,

#Z1:0N ~Light ---> S2
¥ S1
S2,

3": OFF ~Light; Z5 ---> S3

S3,
¥ S2
#710: ON ~Light ---> S4

S4,

2": ---> S5

S5,

0.01": ON ALLvVrOP, "RLVrOP; 725;Z20 ---> S6

S6,

#715: OFF ~Light, ~LLvrOP, "RLvrOP; 729 ---> Sl
¥ L-T
S.S.3,

S1,

#72 : ON ~Light --->S2
¥ S1
S2,

3": OFF ~Light; Z5 --->S3

S3,
¥ S2

#710: ON ~Tone ---> S4

19

Z5

227

Z5

725

Z5

227



54,

2II: ___> 55

S5,

0.01": ON ALLvrOP, "RLVrOP; Z727;Z20 --->S6

S6,

#715: OFF ~Tone, ~LLvrOP, ™RLvrOP; 79 ---> S1
¥ T-T
S.S.4,

S1,

#23 : ON ~Tone ---> S2
¥ s1
S2,

3": OFF ~Tone; Z5 --->S3

S3,
¥ 52
#710: ON ~Tone ---> S4

S4,

2II: ___> 55

S5,

0.01": ON ALLvrOP, "RLVrOP; Z725;Z20 --->S6

S6,

#715: OFF ~Tone, ~LLvrOP, ~RLvrOP; 79 ---> S1
¥ T-L
S.S.5,
S1,

#24 : ON ~Tone ---> S2
¥ s1
S2,

3": OFF ~Tone; Z5 --->S3
S3,
¥ 52
#710: ON ~Light ---> S4
S4,

2": ---> S5
S5,

0.01": ON ALLvrOP, "RLVrOP; Z727;Z20 --->S6
S6,

#715: OFF ~Light, ~LLvrOP, ~RLvrOP; Z9 --->S1
S.S.6,
S1,

#75: RANDD Y=E; Show 3, Delay, VY;
IF Y=1 [@11True, @1l1False]

@11True : ---> S2
@l1False : IF Y=3 [@12True, @12False]
®12True : ---> S3
@12False : IF Y=5 [@13True, @13False]
@13True : ---> S4

20

Z5

Z5

725

227



@13False : ---> S4

¥ 710 S2
s2,

1": 710 --->S1

s3,

3": 710 ---> S1

s4,

5": 710 --->S1

5.8.7,

s1,

#2251 ---> S2
¥ L-L T-T N Z17

713
s2,

#R ~RLvr: SET W=0; Show 4, Correct,W; ADD B; Show 5, Reward, B; Z17; Z13 ---> S1
#R ~LLvr: SET W=5; Show 4, Error,W; 717; 714 ---> S1

S.S.9,

S1,

#7227 ---> S2

¥ L-T T-L ON 717
Z13

S2,

#R ALLvr: SET W=0; Show 4, Correct,W; ADD B; Show 5, Reward, B; Z17; Z13 ---> S1

#R ~RLvr: SET W=5; Show 4, Error,W; 717; 714 ---> S1

¥

S.S.10,

S1,

#714: OFF “HouseLight, ~TONE, ~Light, ~RLvrOP, ~LLvrOP ---> S2
S2,

20": ON ~HouseLight; Z15 ---> S1

S.S.11,
¥ 715 82

S1,

#713: ON "Pellet ---> S2

S2,

0.1": OFF ~Pellet; Z715 ---> S1

¥

S.5.12,

S1,

#220: SET T=0 --->S1
¥

S.5.13,
S1,

21



0.1": SET T=T+0.1 --->SX
¥

S.S.14,

s,

#717: SET C(P)=T ---> SX

S.S.15,

S1,

#713: ON ~LLamp; ON ~RLamp ---> S2
S2,

0.3":0FF ~LLamp; OFF ~RLamp ---> S3
S3,

0.3":ON ~LLamp; ON ~RLamp ---> $4
54,

0.3":0FF ~LLamp; OFF ~RLamp --->S1

22
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ALLvr=1 ¥ Left Lever Response

ARLvr=2 ¥ Right Lever Response

ALLvrOP=1 ¥ Operate Left lever ( Retractable Lever )
ARLvrOP=2 ¥ Operate Right lever ( Retractable Lever )
"Pellet=3 ¥ Operate Pellet dispnser

ALLamp=4 ¥ Left Stimulus Light

ARLamp=5 ¥ Right Stimulus Light

Tone=6 ¥ Tone Stimulus

"HouseLight=7 ¥ House Light

ALight=8 ¥ Optional Light

LISTD =1, 2, 3, 4

¥ E
¥ E=1-
LIST E =1,3,5
¥
¥
DIM C 5%
¥
C=400- 80
DIM C = 300
¥
¥
¥
¥
¥
¥
¥

Disk Columns =5
Disk Options = Fullheaders, Formfeeds
Disk VARS =C,B

S.S.1,
¥

S1,

E

E=5

C
Disk Columns 5

C=300-60 C=350-70

c@)

CL)
C(W)
CP)

S1-82

WO WN B

60": SET N=1; SET J=0; SET K=1; SET L=2; SET M=3; SET P=4; SET B=0; ON ~HouseLight ---> S2

23

C(K)

S1



¥ S2
N>
S2,
0.01"™ : Show 1, Trial, N; RANDD X=D; Show 2, Stimuli, X;
IF N>10 [06True, @6False]
@6True : SET B=0; 722--->S3
@6False : IF X=1 [@7True, @7False]
@7True : 76 --->S3
@7False: |IF X=2 [@8True, @8False]
@8True : Z7 ---> S3
@8False : IF X=3 [@9True, @9False]
@9True : 7Z8 ---> S3
@9False : IF X=4 [@10True, @1OFalse]
®10True : Z11 ---> S3
@10False : ---> S3
S3,
#212: SET C(J)=N, C(K)=X, C(L)=Y, C(M)=W ---> S4
S4,
20": ADD N; SET J=J+5; SET K=K+5; SET L=L+5; SET M=M+5; SET P=P+5 ---> S2

S.5.8,
S1,
#722: Show 1, Trial, N; RANDD X=D; Show 2, Stimuli, X;Show 5, Reward, B;
IF X=1 [@True, @False]
@True : 71 --->S82
@False: IF X=2 [02True, @2False]
@2True : 722 ---> S2
@2False : IF X=3 [@3True, @3False]
@3True : Z3 ---> S2
@3False : IF X=4 [@4True, @4False]
@4True : 724 ---> S2

@4False : ---> S2
¥ c() ) S1-S2
cL
S2,
#79: SET C(J)=N, C(K)=X, C(L)=Y, C(M)=W ---> S3
¥ (S3 (N) S3
S3,

20": ADD N; SET J=J+5; SET K=K+5; SET L=L+5; SET M=M+5; SET P=P+5;
IF N=61 [@5True, @5False]
@5True : ---> S4
@5False : 722 --->S1
¥
S4,
1": ---> STOPABORTFLUSH

¥ S.5.16 S.5.19
¥ L-L
S.S.16,

S1,
#76:0N "~Light ---> S2

24



¥

S2,

3": OFF ~Light---> S3
S3,

¥

1": ON ~Light ---> S4
54,

2" ---> S5
S5,

0.01": ON "RLvrOP; 7Z25;720 ---> S6
S6,

#715: OFF ~Light, ~RLvrOP; Z12 ---> Sl

¥

S.5.17,

S1,

#Z7 : ON “Light --->S2
¥

S2,

3": OFF ~Light --->S3
S3,

¥

1": ON ~Tone ---> S4
S4,

2": ---> S5
S5,

0.01": ON ALLvrOP; Z727;7220 --->S6
S6,

#715: OFF ~Tone, ~LLvrOP; Z12 ---> S1

¥

S.S.18,

S1,

#28 : ON ~Tone ---> S2
¥

S2,

3": OFF ~Tone --->S3
S3,

¥

1": ON ~Tone ---> S4
S4,

2": ---> S5
S5,

0.01": ON ~RLvrOP; Z725;720 --->S6
S6,

#715: OFF ~Tone, "RLvrOP; Z12 ---> S1

¥

S1

S2

L-T

S1

S2

T-T

S1

S2

T-L

25

Z5

725

Z5

227

Z5

725



S.5.19,

S1,
#7211 - ON ~Tone ---> S2
¥ S1 Z5
S2,
3": OFF ~Tone --->S3
S3,
¥ S2 727
1": ON ~Light ---> $4
S4,
2" ---> S5
S5,
0.01": ON ALLvrOP; 727;7220 --->S6
S6,

#715: OFF ~Light, ~LLvrOP; Z12 --->S1

¥ L-L

S.5.2,

S1,

#Z1:0N ~Light ---> S2

¥ S1 Z5

S2,
3": OFF ~Light; Z5 ---> S3
S3,
¥ S2 725

¥ Z20

#710: ON “Light ---> S4

54,

2" ---> S5

S5,

0.01": ON ~LLvrOP, ”RLvrOP; Z25;720 ---> S6
S6,

#715: OFF ~Light, ~LLvrOP, ~RLvrOP; Z9 ---> S1

¥ L-T

S.S.3,

S1,

#72 : ON “Light --->S2

¥ S1 Z5

S2,

3": OFF ~Light; Z5 --->S3

S3,

¥ S2 227
¥ Z20

#710: ON ~Tone ---> S4

26



54,

2II: ___> 55
S5,

0.01": ON ~LLvrOP, ~RLvrOP; Z27;Z20 --->S6
S6,

#215: OFF ~Tone, ~LLvrOP, ~RLvrOP; 79 ---> S1
¥

S.S.4,

S1,

#23 : ON ~Tone ---> S2
¥

S2,

3": OFF ~Tone; Z5 --->S3

S3,
¥
¥

#210: ON ~Tone ---> S4

S4,

2": ---> S5

S5,

0.01": ON ~LLvrOP, ~RLvrOP; Z25;Z20 --->S6
S6,

#215: OFF ~Tone, ~LLvrOP, ~RLvrOP; 79 ---> S1
¥

S.S.5,

S1,

#724 : ON ~Tone ---> S2

¥

S2,

3": OFF ~Tone; Z5 --->S3

S3,

¥

¥

#710: ON ~Light ---> S4

S4,

2": ---> S5

S5,

0.01": ON ~LLvrOP, ~RLvrOP; Z27;Z20 --->S6
S6,

#715: OFF ~Light, ~LLvrOP, ~RLvrOP; Z9 --->S1
S.S.6,

S1,

#75: RANDD Y=E; Show 3, Delay, VY;
IF Y=1 [@11True, @11False]
@11True : ---> S2

27

S1

S2

Z20

S1

S2

Z20

Z5

Z5

725

227



@11False : IF Y=3 [@12True, @12False]

@12True : ---> S3
@12False : IF Y=5 [@13True, @13False]
@13True : ---> S4
@13False : ---> S4
¥ 710
S2
S2,
1": 710 --->S1
S3,
3": 710 ---> S1
S4,
5": 710 --->S1
S.5.7,
S1,
#725: ---> S2
¥ L-L  T-T ON 717
713
S2,

#R ~RLvr: SET W=0; Show 4, Correct,W; ADD B; Show 5, Reward, B; Z17; Z13 ---> S1
#R ~LLvr: SET W=5; Show 4, Error,W; 717; 714 ---> S1

S.S.9,

S1,

#7227 ---> S2

¥ L-T T-L ON 717
Z13

S2,

#R ~LLvr: SET W=0; Show 4, Correct,W; ADD B; Show 5, Reward, B; Z17; Z13 ---> S1

#R ~RLvr: SET W=5; Show 4, Error,W; 717; 714 ---> S1

¥

S.S.10,

S1,

#714: OFF “HouseLight, ~TONE, ~Light, ~RLvrOP, ~LLvrOP ---> S2
S2,

20": ON ~HouseLight; 715 ---> S1

S.S.11,
¥ 715 82

S1,

#713: ON "Pellet ---> S2

S2,

0.1": OFF ~Pellet; Z715 ---> S1

¥
¥ 720 S2

S.5.12,
S1,

28



#7220z SET T=0 --->S1

¥

S.S.13,

s,

0.1": SET T=T+0.1 --->SX
¥
S.S.14,
s,

#717: SET C(P)=T ---> SX

S.S.15,

S1,

#713: ON ~LLamp; ON ~RLamp ---> S2
S2,

0.3":0FF ~LLamp; OFF ~RLamp ---> S3
S3,

0.3":ON ~LLamp; ON ~RLamp ---> S4
54,

0.3":0FF ~LLamp; OFF ~RLamp --->S1
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